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2. Answer any four questions from Part -B ir'i detail.
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Max. Marks:75
It is compulsory to answer all the questions (1.5 marks each) of Part -A in

3. Different sub-parts of a question are to be attempted adjacent to each other.

4. Symbols have their usual meanings.

PART -A
Define Coplanar and Concurrent Forces.
AT A Tt it A e 7
What is Rigid Body equilibrium of forces?
Fat #1 Rffre aist ugpaTsmaw 7= 872
What is limiting friction?
Define wedge friction. .
AT =TT T g w7
What is Zero force member in truss?
zar # ST P e T 29

What is centre of gravity?

TEATHY Fg F4T &7

What is conservative force?
AT I T 82

Define rectilinear motion. . .
Hrefrret iy i afamfia fifsmo

Differentiate between Frames & Machines.
e A At F A= st w

What is virtual work?

SRR &1 =r &2
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Two concurrent 50 N forces and 150 N act on the body along directions at 0° (10)
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and 60° to X-axis respectively. Find the magnitude and direction of the

b ‘

Rt 50 N 7 3T 150 N erifiT g #7er: 0° 3 60° & Uahg-3rey u¥ 1 F33

& TRorrt 1 afwr i e s Fifv) : ' :
Explain the concepts of Particle equilibrium in 2-D & 3-D. (5)
2-31 91T 331 H F7 HIo FT AT FY GHATH

A body of weight W is placed on a rough inclined plane having an inclination (15)
angle « to the horizontal. The force P is applied to the horizontal to drag the
body. If the body is on the point of motion up the plane, prove that P is given by

P =W tan (« + @). Where @ = Angle of friction. : :

T W AT OF fie #fas & « obra o7 a1t geay g% g0 a9 7% 7@ 1w ) e

H1 & ¥ forg &fst o ae P srrar st &) Ffe o F9T it e afa F g o

&, a1 AT X 5 P =W tan (o + @) g7 Rar mam 1 st @ = sy oy

Calculate forces in members in the plane truss loaded as shown below in (15)
figure: :

o & A% o o 3T S za § wewdt § a6t £ T A |

e

Q5 (a) Derive a relationship for finding the moment of inertia of a triangle. (10)
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U IO T &107 STE T AT FA 8 oy daer v S
Explain the principle of virtual work for particles and ideal system of rigid bodies. = (5)
FOIT % AT 14 % i 7o g Fvet ¥ areet a7 A e fivn

Explain the impulse-momentum theorem with a suitable example. (10)

ST IITELT T HETAAT § STET-5T w87 Y saveay Fifvm)

State newton’s 27d law of motion. : (5)

T T AT T @ Faw g9

A bedy starts from rest with an acceleration givenbya=10-0.006 S2. Find the (15)
velocity of the body when it has travelled 20 m. also, find the distance covered
by the body when it comes to rest. Here a=acceleration (m/s2), S=distance (m).

s ffea= 10 - 0.006 s2 BTT AW T &7 F AT AW A 4F BT B T T
20 wYex woft &t qF IaFT A e Fiorw) wv &, sy 7 Rufy F oy g% fie
R REIR ERANE i 1 Eﬁ__ﬁm gt =7 (m/s?), S=gft (m))
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